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| 339,933 339,933 0
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Al 2,629,770 2,632,102 £2,332
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= 2,334 3,768 A1,434
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= 134 1,568 A1,434

= 41 470 A429

Al 9 1,098 A 1,004
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= 81,889 80,300 1,589

301 YBHB A2 81,889 80,300 1,589

2 81,889 80,300 1,589

2 IIEtE4 = 81,889 80,300 1,589
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= 80,604 80,300 304
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= 1,285 0 1,285

=i 2,227,187 2,260,688 A33,501

= 22,940 48,904 725,964

| 339,041 339,041 0

S 1,340,397 1,348,119 NT,722
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= 93 0 93

Al 217 0 217
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= 93 0 93
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= 93 0 93

Al 217 0 217
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Al 220 252 A32
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Al 220 252 A32

IEHSY HYBE 22,757 22,670 87

2 6,268 6,181 &7

S 1,999 1,999 0

|
©
|




2A:
X ZH .
(= I

&l

ool
> 0Q Jx
0 oY O
0% 02 0%

i

At

Al 14,490 14,490 0
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= 6,268 6,181 87

=S 1,999 1,999 0

Al 14,490 14,490 0

01 =4 22,757 22,670 87
OJt=& 2 AR 22,757,000 22,757 22,670 87

= 6,268 6,181 87
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Al 14,490 14,490 0

M S(=sMsF1D 87,205 86,942 263
NS 87,205 86,942 263
=l 87,205 86,942 263
802 gtet=7| 87,205 86,942 263
01 =18x = 68,780 68,517 263
= X0l AL 263,000 263 0 263
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